Cub Cadet Papts NABEOENModeh101aCe 28o01347#1 606-678-9623 or 606-561-4983

Full download: http://manual place.com/downl oad/cub-cadet-parts-manual -for-model-1215-sn-126001- 147087/

1215 S/N 126,001 - 147,087 Page 1 of 56
Air Cleaner

2

Thisisthe cut pages sample. DOV\WWWWW@ com



http://manualplace.com/product/cub-cadet-parts-manual-for-model-1215-sn-126001-147087/

1215 S/N 126,001 - 147,087

For Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983

Air Cleaner

P
9]

—
H:

[

RPOOWOLO~NOUIRA,WNE

Part Number

BS-94248
BS-223700
BS-212706
BS-231532
BS-94249
BS-94246
BS-399806
BS-490332
BS-94018
BS-270853
BS-271962

RPRRPRRRRRRRERER

Qty S/P/F

nwon uu nLunm

Page 2 of 56

Description
Screw
Cover
Knob
Nut
Washer
Screw
Cartridge
Body
Screw
Gasket
Element

WWW.mymowerparts.com



For Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983

1215 S/N 126,001 - 147,087 Page 3 of 56
Battery & Mounting

<~—— PEDESTAL

WWW.mymowerparts.com



For Discount Cub Cadet Parts Call 606-678-9623 or 606-561-4983

1215 S/N 126,001 - 147,087

Battery & Mounting

Ref #
1

N

[ N
WNRPROOWWONOUD W

Part Number

725-3061
710-0451
712-3010
759-3193
777-4491
703-1144
711-3142
711-0222
736-0142
712-3044
735-3027
710-3008
725-0975
736-3007
736-0119
712-3010

ARANRPARNNRRRPREPRNNER

Qty S/P/F

S
/P
S

Page 4 of 56

Description

Battery, 12 Volt

Bolt, Carriage, 5/16-18 X .75 Lg

Nut, Hex, 5/16-18

Cover w/Graphic, Battery

Graphic, Danger

Tray, Battery

Rod, Battery Cover, LH

Rod, Battery Cover, RH

Washer, Flat, .281 X .500 X .056

Nut, Wing, 1/4-20

Hose, Battery Drain, 48 in. Lg

Screw, Hex Cap, 5/16-18 X .75 Lg GR5
Wire, Ground, 9.0 Lg

Washer, Int. Ext. Lock, 5/16 ID X .875 OD
Washer, Lock, 5/16
Nut, Hex, 5/16-18

WWW.mymowerparts.com



Cub Cadet Papts NABEOENModeh101aCe 28o01347#1 606-678-9623 or 606-561-4983

Full download: http://manual place.com/downl oad/cub-cadet-parts-manual -for-model-1215-sn-126001- 147087/

1215 S/N 126,001 - 147,087 Page 5 of 56
Brake Pedal & Connections

Thisisthe cut pages sample. DOV\WWWWW@ com



http://manualplace.com/product/cub-cadet-parts-manual-for-model-1215-sn-126001-147087/

